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Potential of  a Single Point Charge

q

• d

V = k
q
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k = 9 × 109 Nm2

C2

For this chapter, we'll assume =0.V∞
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What is the potential at the star? V∞ = 0
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V = 1.35 × 105 =135kV
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What is the potential at the star? V∞ = 0
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V = 0V
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qs
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qt

•

PE = qtV

PE = (mg)h

PE = qt (k
qs

d )

PE = k
qsqt

d
between two point charges
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Total PE of  this system 

is sum of  PE of  each relationship

–

+ –

+
target charge

only one that


can move

don't change

Total PE of  a target charge

is sum of  PE of  the relationships

involving that target charge


